
CASE STUDY QUESTION 32
Read the following and answer any four questions from (i) to (v)

In his periodic table, Mendeleev arranged all the then
known 63 elements in the order of increasing atomic
masses in horizontal rows but in such a way that
elements having similar properties came directly
under one another in the same vertical column. In the
classification of the then known elements, Mendeleev
was guided mainly by two factors. In order to make
sure that the elements having similar properties fell in
the same vertical column, Mendeleev left some gaps
in his periodic table. Though the leaving of gaps in the
periodic table was considered to be a big drawback of
his classification of elements at that time but
Mendeleev stuck to his decision.



(i) What are the horizontal rows of Mendeleev’s 
periodic table known as ?
(a) periods (b) groups
(c) metals (d) non-metals

(iii) How many vertical rows were there in Mendeleev’s original periodic table ?
(a) 6 (b) 7 (c) 8 (d) 9

Ans: (a) periods

(ii) How many horizontal rows of elements were there in Mendeleev’s original periodic 
table ?
(a) 6 (b) 7 (c) 8 (d) 9

Ans: (b) 7

Ans: (c) 8



(iv) The three elements having chemical symbols of Si, B and Ge are :
(a) all metals (b) all non-metals
(c) all metalloids (d) Si is metalloid, B is metal and Ge is non-metal

(v) According to Mendeleev’s periodic law, the elements were arranged in the periodic 
table in the order of :
(a) decreasing atomic numbers (b) increasing atomic numbers
(c) decreasing atomic masses (d) increasing atomic masses

Ans: (c) all metalloids 

Ans: (d) increasing atomic masses


